IIS <2016 48 22 Al=>

o

85 - AHML-GIIOHM 5 ..CHS 0.63% 3 Oiz

57 & YHAS FB Y 600%R2 - 800%4R 22 BAr)
W2 FE ojL Fo| =of o o' FYLU0| WY 254 FTYs: £YY N

~RESAL =27 2 ofmt o

DOW30 17982.52 (-0.63%) WTI 4318 (-2.3%)
NASDAQ 4945.89 (-0.05%) COMEXZ 1250.30 (-0.3%)
S&P500 2091.48 (-0.52%) COMEXT2| 2.2510 (+0.58%)
KOSPI 2022.10 (+0.81%)
KOSDAQ 701.62 (+0.25%) sk 1.825% (+2.1bp)
o= 1.86% (+1.6bp)
SE/99 1.1286 (-0.0010) = 1.59% (+10.9bp)
SE/4 123.55 (-0.49) =3=1 0.24% (+8.5bp)
EL VA 109.45 (-0.38) ZA 0.57% (+7.4bp)
e/t 6.4803 (+0.0224) o|Et2| o} 1.46% (+6.8bp)
21/ 1132.90 MY 1135.20 AHQl 1.59% (+6.4bp)
NDF 1141.00 / 1142.00& 790 M& ag|a 8.47% (-57.5bp)
=7} PEYS RS Previous Forecast
o= -42 HZ=YPMI 515 52.0
-42l MarkitZgtPMI 531 53.2
FEE -42 HZ=YPMI 51.6 51.8
-42] MH|APMI 531 533
-42l Z3PMI 54.0
=g -42 HZ=YPMI 50.7 51.0
-42l MH|APMI 551 55.2
Q= -42 M Z=YPMI 49.1 49.6
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3y 1.474% (+0.9bp) 3y

Sy 1.580% (+1.2bp) Sy

10y 1.825% (+2.1bp) 10y

cb 1.610% 0)

1Y 1.4900% (+1.25bp) 1*2Y

2Y 1.4500% (+1.5bp) 2*3Y

3y 1.4575% (+2.0bp) 2*5Y

5Y 1.5075% (+2.25bp) 3*5Y

7Y 1.5625% (+2.25bp) 5*7Y

10Y 1.6475% (+2.75bp) 5*10Y
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HCt 1.5bp oF 1.380%
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